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General Instructions:

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified

places will lead to disqualification of the candidate.

Write your Question Paper code No. 68/SS / O-A on the Answer-Book.

5. (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any one

of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the Answer-
Book.

(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility for any
errors/ mistakes in understanding the question will be yours only.

6. In case of any doubt or confusion in the question paper, the English Version will prevail.
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Note

(vi)

(vi)

(vii)

There are 53 questions in all divided into three parts.

All questions are compulsory.

Marks for each question are indicated against it.

Questions have to be Attempted either from Optional Module-I or Optional Module-II in all

Sections.

Section - A consists of :

(@) Q.No.1to 16 - are Multiple Choice Type Questions (MCQs) carrying 1 mark each. Select
and write the most appropriate option out of the four options given in each of these questions.

(b) Q.No. 17 to 35 - are objective Type Questions carrying 2 marks each (with 2 sub-part of 1
mark each). Attempt these question as per the instruction given for each question.

Section - B consists of :

(a) Q.No. 36 to 40 - are Very Short Answer Type Questions carrying 2 marks each to be answered
in the range of 30 to 50 words. Q.No. 51 is objective type question, carries 2 marks.

(b) Q.No. 41 to 46 are Short Answer Type Questions carrying 3 marks, each to be answered in
the range of 50 to 80 words.

()  Q.No. 47 to 50 are Multiple Choice Questions (MCQ) carrying 1 mark each.

Section - C consists of Q. No. 52 and 53 that are Long Answer Type Question carrying 6 marks

each to be answered in the range of 80 to 120 words.

9 U-TF | Fe 53 T T

Tt e ifrard ¥

T T % WA ek fou e

geft Tl o IR T GUe H F A1 @ ek AT [ 91 Jehfedsh AreTet 11 H 9 S|

@S- AH

(a) T HEA 1616 - TGfohcd UHR & U ¥, S YA 1 3k 1 8 1 39 Yol § g § o3 T3 =R
foehedl § 9 9a9 39ga fased g iR fafau |

(b) T T 17 W 35 - TGS T &, TAH U 2 37h 1 € (A SUUFT & W YA 1 1 ) | Tk
e T T8 AT STER U9 & W L

@ug - B H

(a) U HEA 36 ¥ 40 Afqery ITHT YHR & Y T, TAH & 2 3k ¢ ST W &I A
30 ¥ 50 Vg €1 YT H&AT 51 TS U 2 3k H T

(b) UYT FAT 41 9 46 T I THFR & Y9 §, UAH & 3 3(Hh € A IW &1 HwI
50 § 80 ¥ ¥ |

(c) ¥ HEA 47 ¥ 50 Sgfahed YT s 1 3 A |

@Ug - C H T | 52 AR 53 e 3T YRR & YA ¥, TP h 6 3k ¢ AR IW H G
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(Note / fAcor:

(1) Answer of all questions are to be given in the Answer-Book given to you.

[l Tl o I IR & T8 IR-Yfeashl H & fod |

will not write any answer on the Answer-Book during this period.

forg |

(2) 15 minutes time has been allotted to read this question paper. The question paper will be distributed
at2:15 p.m. From 2:15 p.m. to 2 : 30 p.m., the students will read the question paper only and

9 YY-9F o UG o fore 15 THAe o1 99 oo 71 § 1 UeA-u o foawor Qrask § 22 15 9t fohan s |
2:15 99 9 2: 30 91 TF BT kel T-T5 ol U&7 31 39 76 & SRE I STR-Ydehl | FIE W Tl

J

SECTION - A/ @UE - A

1.  Which one of the following is a negative economic impact of Tourism ?
(A) Increase in income (B) Receipt of Foreign exchange
(C) Increase in employment (D) Increase in import

frefafaa & @ SiF 1 we & THR e g § 2
(A) sEHIg (B) 3T ! Wi
(C) ISmHglg (D) oTE@H gfg

2. Which one of the following is a positive environmental impact of tourism ?
(A) Reduction in cultivable land due construction of infrastructure.
(B) Increase in landslides due to human intervention.
(C) Environmental pollution by local transport biofuel consumption.
(D) Increased cleaning drives for tourist attraction.

frfafaa § @ S 91 7T T HehRIcHE TieRod J9ie © ?
(A) I e % fmio & wRo S 9 fa § o
(B) HMHT B&I&Y % HRUl Y&EeH | gfg

(C) T IReR # Sia 49 i @d ¥ JATa Jguul
(D) e o STRYY o foTw TR STFH sera T

3.  Which one of the following statements about Longitude is not correct ?
(A) Lines of longitude are parallel.
(B) Its distance is in degree east or west of the prime meridian.
(C) Alllines of longitude cut lines of latitude at 90° (right angles)
(D) Itis animaginary line which runs from North Pole to South Pole.

SR F o H FeAfefad § § S 91 e 98 = 7 2

(A) T MR @ FHRR S |

(B)  TE UH HeATe Y@ % vd A1 ufve | ferlt # gt ¥

(C) TR Rt Wt Y@ 37e77er bt Xansii sht 90° TR hredt € |
(D) I8 T HIeq(eh 1@ & S S Yol O <faoft yat aeh <ot § |
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4.  Which cities does the Golden Triangle Highway connect ? 1

(A) Delhi-Agra-Jodhpur (B) Delhi-Agra-Udiapur
(€) Delhi-Jaipur-Jaisalmer (D) Delhi-Agra-Jaipur
Tiee ZTUTA gedl fohd STedl hi Sifed © 2
(A)  feeeft-m-siagR (B) fooeht-srm-3gaqR
(C) Teoeft-STagT-SiHeR (D) feeedl-2mrr-sag
5.  Which luxury train connects small cities of Rajasthan, including Shekhawati ? 1
(A) Heritage on Wheels (B) Fairy Queen
(C) Bharat Darshan (D) Palace on Wheels
HIF H TSR o IrETeTel Higd s o B el i Sl § 2
(A) S A = (B) i A
(C) ¥Rd = (D) Yow i =
6.  Which Coastal State has maximum number of major seaports ? 1

(A) West Bengal (B) Tamil Nadu (C) Maharashtra (D) Gujarat

fond T2 T4 H FaId 21feeh 9 § U@ U § 7

(A) Tiv=s S (B) dfHerrg (C) wenrs (D) T

7.  Who among the following musicians is attributed the invention of Qawwali ? 1
(A) Tansen (B) Hapa Charan (C) Amir Khusrau (D) Mian Lal Khan
frfafed # § forg Siaehr i FHearel & Afaw=hr w1 99 feon s e ?
(A) AqEEA (B) BT91 =0l (C) SR gaU (D) Tl wrmet @i

8.  Bharat Ratna Pundit Ravi Shankar was a renowned player of which instrument ? 1
(A) Veena (B) Sarod (C) Sarangi (D) Sitar
9 T e ergishe ot = 15 o Hieg aeeh 42
(A) = (B) WG (C) = (D) f&am

9.  “Morulem” is a traditional Folk Dance of Which State ? 1
(A) Goa (B) Maharashtra (C) Gujarat (D) Daman and Diu

‘Ao forg T BT IR ol T 2

(A) T (B) WERTE (C) TR (D) <A iR Ea
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10. Where did Buddha attain Mahaparinirvana ? 1

(A) Lumbini (B) Kushinagar (C) Sarnath (D) Gaya
5 1 HeTIR e el wre g ?
(A) e (B) FRMTR (€) Hre (D) T
11. The four “Dhams” or sacred places of Hindus are : 1

(A) Badrinath, Dwarka, Puri and Varanasi
(B) Badrinath, Haridwar, Puri and Rameshwaram
(C) Badrinath, Dwarka, Puri and Rameshwaram

(D) Dwarka, Puri and Rameshwaram and Sringeri
fRgeiiF=an ' am" A ufea M § :

(A) FEY, SR, T TR AR

(B) =&Y, BREN, Th SR wHverH

(C) =&Y, §RFAI, T SR THYH

(D) R, T4, THTERH R G

12. Mount Parsvanatha is a religious heritage site for : 1
(A) Hindus (B) Sikhs (C) Buddhists (D) Jains
HISE AIeETY T HifHen fourea o &
(A) fegail (B) fadl (C) dirs (D) S
13.  Which one of the following states Hemkund Sahib is located ? 1
(A) Himachal Pradesh (B) Uttarakhand
(C) Uttar Pradesh (D) Maharashtra
Fuge wifed frefafed § 9 fra T o feom § 2
(A)  fesre wew (B) SWrEE
(C) W YW (D) TR
14. Which State had the highest number of foreign tourists visiting in 2014 ? 1
(A) Rajasthan (B) Tamil Nadu (C) Maharashtra (D) Kerala
2014 ¥ fore =1 # wad At faeelt wofess o 2
(A) VST (B) dfHerrg (€) ¥R (D) @
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15. Which one of the following is an disadvantage of oral communication ? 1
(A) It provides immediate feedback.
(B) It provides an opportunity for a dialogue.
(C) It does not provide record or reference.
(D) Itisfast and saves time.

frefafed § @ &M @ Hifges TaR %1 M § ?
(A) I TehTel FfAfeRan JeH a1 2 |

(B) I TS hT STTTR Y T ¢ |

(C) e RerlE =1 HeY oM &l e |

(D) FE IS ¢ AR 9 T2 |

16. Which one of the following is not included in 7C of communication ? 1
(A) Cleanliness (B) Completeness (C) Correctness (D) Conciseness

frefafed § 9 & @ =R & 78 (7C) # it & €2
(A) HH-THE (B) qufar (C) Feedan (D) Hfafa

17. Fillin the blanks: 2
(i) The divides the Earth into two Hemispheres.

(i) The is an imaginary line on the surface of the Earth that runs from North
Pole to South Pole.

et Tl =t gfd sifse |
(i) geat i < et #H fawifsd e g1
(i) Yool ki HAg W Tk Hied-eh @1 § S ST Yo I Sferoft ot ek <erdl 2 |

18. State whether True or False : 2
(i) India has two time zones.

(i) In order to calculate the time difference between two places, it is not enough to know
the longitude of both the places.

A A1 AT 3iferd 1T
() YRAHDTTIEAE
(i) < XA o S A F SR R AT A b AT, ST T SR ST & T ¥

19. Answer in one word : 2
(i)  Who was the Guru of Amir Khusrau ?
(i) Which musical instrument was invented by Amir Khusrau ?

T 9168 H I S |
() STIRGEIHTEHA I ?
(i) SR GE A fohg are 33 o1 Mfoshr foran o1 ?
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20. Fill in the blanks : 2

(i)  During the reign of Ashoka, many monolithic stone pillars were erected on which

teachings of were inscribed.

(i) The Lion Capital of the Sarnath Pillar has been adopted as the of the
Indian Republic.

e T =0t gfd it |

(i)  Teih % GRS % IRM, HE TGS TR & WY 5 TT & 57 W) =t foramd
afend off |

(i) TS WY Y T HUEe hl IR TS F % &Y H ST TR

21. Fillin the blanks: 2

(i)  The sacred place, which was the capital city of Sri Krishna's Kingdom and has some
very important temples is

(i) The sacred place, where Sri Ram built a bridge over the sea to Sri Lanka when he went
in search of his consort, Sita ji is called

e T =0t gfd it |
() o ufert T, S i A i T off 3R Stef e wgd Heeul Hi €,
2l
(i) % fas TIM SRl ot TH 7 ST Tl i ST i IR0 § S0 qHT Ficishl I 9Hg R T I
A o, 3 e S 2 |
22. Fillin the blanks: 2
(i) Prophet Mohammad got Prophethood at the age of in the year 610 AD.
(i) The Hijri Era started in the year
et o =t gfd i
(i)  UveR HiETT I ¥ 610 T H o st g H et wr 2 |
(i) fost&t g7 =t yeeTa a g ot
23. Fillin the blanks: 2

(i) ‘Atithi Devo Bhava’ means

(i) Tourism that involves interaction of tourists with local people and their cultural life is

called Tourism.

e T =it gfd it |

() ‘eAfafy <@ wa' @ ot g

(i) o wheR fore o A Sk S it S e e # A o a3,
o e ©
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24. State whether True or False : 2
(i) InIndia, Tourism is the largest Industry.

(i) About ten million people are employed directly or indirectly in Tourism Industry.

A 91 35 ferfa .

(i) 9RA H T gad a2 M g |
(i) T TR H @ g fuferam A g A sTucel ®9 W hRRA

25. Fill in the blanks : 2

(i)  The lowest Decadal Growth Rate of Foreign Tourists Arrival in India between 1951
and 2010 was in

(i) The highest percentage growth rate of Foreign tourists in India between 1997 and 2015
was registered in the year

e T =t gfd it |
(i) 1951 3fR 2010 % o= wRA H faesit Wil & ATHA il o FHH W6 g T
H ol |
(i) 1997 3R 2015 % &= YRA H faceht wHewl & I=aan yfaed gfs T a8 EECE
1 T off |
26. Fillin the blanks: 2

(i) UNWTO stands for

(i) According to UNWTO Annual Report of 2015, the country that gets the highest number
of Tourists in the world is .

e T =it gfd it |
(i) UNWTO % Haeid g
(i) UNWTO =t 2015 & arftier RUe o S8R, 31 § o9 Afee wesh o aen <9
g
27. State whether True or False : 2

(i) Indiais included in the top ten countries in terms of international tourism arrivals.

(i) Europe gets the largest international tourism arrivals.
BREICERASICE

(i)  SIARSET THiesh ST % A | 9RA i 5" <ui § wine ¥
(i) I H Ted 31fien ST wied S g § |

[E2m
68/5S/0-337-A ] 8 E4% [ Contd..



28.

29.

30.

31.

32.

Fill in the blanks :

(i)  An exchange of facts, ideas, opinions or emotions by two or more persons is called

(i) A language which is special to science, commerce, technology, trade or profession is

called

e T =it gfd it |

() WA Y i Al gR1 a2, fo=m, fTo=ml a1 weel & SARE-USH &l

FE ML

(i) o 9T S o=, anfores, WenfiTeRT, SR a1 U % fore e g,

State whether True or False :

(i) ‘Emotional Stability’ is a personality trait listed under the MBTI Approach.

(i) People with Perceiving Type Personality are flexible and spontaneous.

g 1 379 fafay .

(i) ek feerdr’ THeElEleTE giteeniv o ded Yeids T sAfade fosmd 7

(i) foremeiie sfw e @ el 3R & 2 ¥ |

State whether True or False :

(i)  Marketing is satisfying the needs of the buyer.
(i) Marketing is a part of Selling.

A =1 16 fefew

() foum TlER #t SEdl R WL
(ii) TR forsht o1 T fewm B |

Define “Values'.

T ! IR it |
OR / AT

Define ‘Norms’.

‘Oree’ w1 aRfid sifs |

Explain why Tourism is considered as an industry.

AT HITSTT foh e Rl Teh ST R HIAT STl & 2
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33.

34.

35.

36.

37.

38.

39.

Write a note on Carnatic Music.

Hleeh TId W T e fafan |

Describe any two characteristics of musical instrument ‘Flute’.
e e T Y e <) fersi o v i |

OR / 31eran
Describe any two characteristics of musical instrument ‘Sarangi’.

T ST AR i fdl S faRianed w1 9uie Sifed |

Mention any two superior town planning skills of the Harrapans.

gSHETT ! o TRzl a1 53 TR TS Rl o Jeeid it |

SECTION - B/ @US - B

Explain two main features of ‘Rock-cut Temples'.

‘Terend Hfcl’ i <1 g Tt shi same it |
OR / AT

Explain two main features of ‘Cave Architecture’.

*TTRT ARl o &1 A ToRreaietl st sme shifaa |

Explain any two barriers to communication.
TR H feh=el <1 el shi e shifstd |

OR / AT
Explain two main objectives of meeting.

S o QI A Il ol TI e |

Explain what makes a ‘Presentation” effective.

I Fife fo ‘ Tegfa’ ol s & qe grelt S € 2

Distinguish between Extroversion and Introversion as personality traits.

feaca & o | dfeEar iR SadEar & i S T Hifsd |
OR / 31eram
Explain ‘Conscientiousness” as a personality trait.

‘el Tl Teh Al 01 o €9 H T Hifor |
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40. Explain ‘Agenda’ in the context of a Meeting. 2
fordt Sioeh o Hed | ‘Tsier’ &t SAre hifed |

41. How does Geography helps in travel and tourism ? Explain any three ways. 3
oI, A 3R e W fohd YRR HeTIal Yl € 7 hIE i diich I hiferd |
OR / 31eram
Explain the concept of ‘Sustainable Tourism’ in three points.

‘Tt wefe’ st STarERon it 4 feigstl | saren wifsE |

42. Explain any three points of importance of maps in tourism. 3

e H AMfeE o e o fohgl did faigail ohl e Hhifsd |

43. Explain any three points of significance of Varanasi as the most sacred among the holy 3
places of Hindus.

g3l o afors TomHl § 99 ufers AR o 78 & fohgl did fagstl st A shifs |
OR / 3t
Explain any three points of significance of Satrunjaya, Gujarat as a holy place for Jains.

Sift o uferst T o &9 H WS, ORI o Hewd & fohgl di feigail ohi SATeA Shifsrd |

44. Distinguish between International and Domestic tourists. Explain any three points of 3
difference.
ST TR =T Teahi o o= SId &l A d fogell ¥ = Fifsd |
OR / 31eran

How do Government Policies affect tourism ? Explain any three points.

TR il e 1 HE Gfad il € 2 IS di forgsil ¥ T Sifey |

45. Write an essay on Buddha’s Teachings. 3
G i foren W T ey fafaw
OR / 31eran
Write an essay on the life and teachings of Guru Nanak.

% e o St 3R fremsti Wt fay fafaw |

46. Describe any six point of ‘Emerging Dimensions of Tourism’. 3
"R kI M % TRl w8 foigal = oo i |
OR / 3teet

Describe any six ‘factors affecting tourism in the world’.

fova o 9 =l gufad A ol forsl ©8 SHRehl i 9uiF Hifsd |
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Optional Module I (Travel and Tour Operation Business)
qehfeueh AIST 1 (AT U Uie Hared SR )

47. Which was the first Indian-owned travel company ? 1
(A) Jeena Tours and Travels (B) Lee and Muirhead India Pvt. Ltd.
(C) N.Jamnadas and Co. Ltd. (D) TAAI

TRt YR T aTel doet shust shiv 9t ot ?
(A) ST 2H U Taed (B) it 3iR qee Efean . fafies

N oo

(C) TH. SHARH TS shu! fetfiee (D) ZIuusTE

48. When was Travel Agents Association of India established ? 1
I TSieH THITHURH 31 Sfedn sl Lol shel gs ot ?
(A) 1920 (B) 1951 (©) 1961 (D) 1967
49. What does GIT stand for ? 1
(A) Great India Tours (B) Group India Tours
(€) Group Inclusive Tours (D) Great International Tours
SHeTrEet o 37ef T ?
(Aa) ey (B) 79 e
(C) e waRt g (D) e Siadiii Ay
50. What do IATO stand for ? 1

(A) International Association of Travel Operators
(B) Indian Association of Travel Operators

(C) International Association of Tour Operators
(D) Indian Association of Tour Operators

TATO 1 1 14 § 2

(A) <90 ANEH H1 AR T

(B) 3fear wHITHTe At ore Afaeed

(

(

Q) T 3 1 ST H

D) fead THfHuem i 2 A

[E2m
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Optional Module II (Hospitality Management)
Yehfeaeh AISTA 11 ( 3TTded Uaier )

47. Which one of the following is not a function of the Housekeeping Department in a Hotel ? 1
(A) Provide food to the Guests and Staff
(B) Take care of cleanliness of rooms
(C) Maintain Linen Room and supply linen to rooms and other Departments

(D) Maintain Guest Laundry facility

Frefafed & 9 & 1 TF S § SRHehifaT foramT &l & & § ?

A) TR SR HHAIRET ! e SueTsd HT

B) I i WH-HFHE 1 &M

C) Tor= ¥ &1 W@ T AR FAL a1 o7 faar # fa== &t mgfd &

(
(
(
(D) ifafy wuS €M i Flaen s @

48. Which one of the following is not an Operational Department of a Hotel ? 1
(A) Front Office (B) Maintenance
(C) Food and Beverage Service (D) House Keeping
Trefafea § 9 SH 91 Tk g2 o1 U= faam =1 § 2
(A) e AT (B) T@X@E
(C) TS 9 gl (D) & el
49. The three A’s of Tourism Industry are : 1

(A) Appeal, Accessibility and Accommodation
(B) Attraction, Availability and Accommodation
(C) Attraction, Accessibility and Accommodation
(D) Appeal, Availability and Accommodation

TSI AT
(A) e, W, ST
(B)  TTRHYI, IcTeddl 3R Tard
(C) ThHv], Ug 3R A=
(

D) 3Tdd, SUeTeedl SR STad

~—"
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50. Which one of the following is not an Administrative Department of a Hotel ? 1

(A) Accounts (B) Purchase and Stores
(C) Sales and Marketing (D) Front Office
frefafed 9§ @ 9 91 U Bied i gemafes faam & € ?

(A) Teum foam (B) TS TH “USR

(C) forsht wal faqum (D) e wEeE

Optional Module I (Travel and Tour Operation Business)

qehfeueh AigT 1 (AT U Uie Hared SR )

51. State whether True or False : 2
(i)  John Mason Cook was the first organized Travel Agent in the world.

(i) The first organized excursion or tour was by train from Leicester Station for Lough
Barough in 1841.

(aWa

G A1 319 3Afeha Hifog

() S HEA Foh A 98 Hfed o Teie 9 |

(ii) &N Grfed YT 1841 W oAU WM ¥ eitheRl 3 ferw 2 grI fehan e o |

Optional Module II (Hospitality Management)

Yehfeaeh AISTA 11 ( 3TTded Uaier )
51. Fillin the blanks: 2
(i)  Undhiyu is a dish from Cuisine.
(i) Bajre Moth ki Khicdi is dish from Cuisine.
et o =t gfd it
G P 1 Th s
(i) TR HIS i fa=et 1 S
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SECTION -C/W@vug - C
Optional Module I (Travel and Tour Operation Business)
Tehicdeh AISTe | (AT TS UHe Hara SR )

52. Explain what is an online travel agency.
TS Toet Toidl 1 § T hifey |
53. Explain what a Tour Operator does.
T AR o T ohl T RIS |
Optional Module II (Hospitality Management)
Jenfeueh ATSTA 11 ( 3Tfaed wsier )
52. Explain the role of Front Office in a Hotel.
Tordit Siea ® e TR o1 fifent ! o9 ST |
53. Distiguish between ‘Lanai” and ‘Suite” as types of rooms in a hotel.
fordt 2o § ‘A’ 3iR ' gue’ YR o R O S SiaX it |
-00o0-
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